[EHZIAB TR OMIr I7 AT | (HIAR LR ) IERR

(2017.5.23/K)

H & T i 1
2 1.1 L Gt
2 511.3 y" = —w?asin awt y" = —w?asin wt
511,14
11 gﬁﬁ y = xgcosat Yy =Yocosat
14 2.1 t DEE f(x) t DEAR F(D)
15 f112.3 y(0)=0 y(0)=1
18 5112.6 _1 1
AT B 2y 2t=t+c -2y 2=t+c
23 #.(2.9) ux+u=1—-u ut+u=1-u
25 X(2.13) y(t) = c(t)e™d o Y(£) = c(t)e~fa®at
25 X (2.14) y' = c'e~Jadx _ goe Jadx y' = cle~fadt _ gee=adt
f12.11 : ,
29 647 H ve Velt)
$12.13 ' -1 _
Y - 5t = 0 r_ 1 =
32 677 H u u' —=5t""u=0
11 T51TH existence thorem existence theorem
43 T114TH s BTl FEARRLIES, RO IRE FLDDHE, < DT E%, FARIRENES, LD ImEFEODHE, -
45 TH EY TPy EEsv ERVASY 5=
. 14 p
46 11 =P 1=_P
1TH A > 5
4.2
66 27 H A2 4+2242=0 A2+21+3=0
69 B4 4 IEFFU TR D — it AR
T3HTH
. A= 1 _ 1—-i3 A= 1 _ 1+i3
70 FHTH T 2(1+i3) 20 ~201-i3) 20
1-—i3 . 1-1i3 . 1+i3 . 1+i3 .
P — (—1+4i2)t — -t _ i2t - _ (—1+i2)t — -t _ i2t
70 FeATH Yp 20 ¢ ¢ 20 © Ve 20 ¢ ¢ ( 20 ¢ >
1 1, . .
Re[yp] = —%e‘tRe[(l —i3)(cos 2t + isin 2t)] Re[)’p] =770¢ Re[(1 + i3)(cos 2t + isin 2t)]
71 1,24TH 1 1, .
= —ﬁe‘t(c052t+35in2t) =~50¢ (cos 2t — 3 sin 2t)
L 1 1 .
71 5TH y =cie 2t + ce3t — %e‘t(cos 2t + 3sin 2t) y =cie 2t 4+ et — Z—Oe“(cos 2t — 3sin 2t)
78 T6,3,21T H 2e75t 2et
81 1??5 ei3t eit
81 21TH ei3t HllBR
Efillll P at
1 SRR (D)e*g(t)
8 AEAH AT H PD)g®)
fil4.16 1 3 1 3
83 P - G __ -
1047 H 8c053t+3251n3t 8tc053t+3251n3t
1 20 1 L o %e'ﬂ = ;< ! e‘“)
D*+3D+2° D+2\D+2° D7 +3D+2 DH+2\D+2
1 1, 1 < 1 _2t>
D12 _2_18 D+2\-2+1
84 fl4.17 11, I
~ 3D + 2 € D+ 21
= _le_Ztl = _e_ZtB
3 D = _te~2t
1 e
= —thZt
_ 0o -1 - 0 -1
106 15.10 1 1
il B'A [_3 _2] B~4 [3 —2]
. 1
115 #.(6.29) _1 1
2 2
1
1 41
- +5 1 S
117 T37H 1_ 572 . 3 S 2
Ly 16 > (s +1) +2
(s+7) 2) T16
3
117 T21TH ! ° +\/T§ - 4
’ @( +1)2+i ‘/g(s+1)2+i
5T%) T16 ) T16
FHE A4 1 . .
124 —— R — 3si
WA > (14 i3)(cos 2t + isin 2t) 20 (cos 2t — 3sin 2t)
e 3 3++3
131 1#:[4] (2) 1 1+V3 _3 -
1 > cy 2 C1 2’ Co 4
. 1 1 1 1
132 2% ([3](4) y=—et+-(t+1)e 3t y=-et——Qt+1)e 3t
2 2 4 4
13521 (5) -t ~tin 2t + — ; ¢ ~tsin 2t + — |
= y =cie"tcos2t + c,e tsin 2t + E(Zcos 2t + sin 2t) y =ce tcos2t + c,e tsin 2t + ﬁ(cos 2t + 4sin 2t)
- 3 . 1 .
472[4](3) y =cycost+c, sint+1—3€‘3t(2cost+ 3sint) y=cicost+c 51nt+ﬁe‘3t(2cost+ 3sint)
133
5rE[2] (1) y=cie t+c,cost+cgsint —t(cost + sint) +3 y=cet+g cost+c3sint—%t(cost+sint) +3
- . . 1 .
5#[2](2) y=clcosx/ft+czsm\/it+c3tcosx/§t+c4tsm\/§t+Z(C052t+Sln2t) y=clcosxfzt+cztcosxfft+c35in\/§t+c4tsin\/§t+cost
" )= eie 3] + et N =ae(ly [yalsinvze) +es e ([f]smv2e - | cosv2e)
5[7] [y] = e [3] + cye [_1] [y] = e [1] cosV2t + N sinvV2t) +c, e [1] sinv2t N cosV2t
e 1 1
134 6% [3](1) y= E(?Ae“” +9cost + 12sin t)u(t) y = £(34e“” —9cos 3t + 12sin3 t)u(t)
62[3](2) y = e t(cost + 3e~tsin t)u(t) y = e~ t(cost + 3sint)u(t)




